
SUGAR

CHOCOLATE CARAMELS

S1

Teaching Resources @ www.tutoringhour.com

Observe each scale and choose the appropriate option.

5 kg

1)

Wheat flour

The weight of the bag of !our is .

greater than 5 kg

less than 5 kg

equal to 5 kg

2 kg

1 kg

200 g

2) .The weight of the bag of chocolate caramels is

equal to 200 g

greater than 200 g

less than 200 g

3) The weight of the bag of sugar is .

greater than 2 kg

equal to 2 kg

less than 2 kg

4) .

less than 1 kg

equal to 1 kg

greater than 1 kg

Dry
Whole
Milk

Vitamins

 Calcium

    Zinc

    Iron

Balancing Scales

The weight of a can of dry whole milk powder is


